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[1]

①

②

③

④

⑤

①

②

③

④

⑤

ステップ be動詞 肯定文 This is ～ . 

This is a chair. 

This is a pen. 

(  )の正しいほうを、選びなさい。

This ( is / are ) a pen. 

This ( is / are ) a box. 

This ( is / are ) a chair. 

[解答]

This is a box. 

This is a book. 

覚えよう!

This is ～ .

This is a desk. 

This ( is / are ) a desk. 

This ( is / are ) a book. 

これはペンです。

これは箱です。

これは本です。

これは机です。

これはイスです。

これは～です。
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①

②

③

④

⑤

①

②

③

④

⑤

これはペンです。

ステップ be動詞 肯定文 This is ～ . 

覚えよう!

This is ～ . これは～です。

(  )内の語句を、並び替えなさい。

[解答]

(  a pen  /  This  /  is  ).

これは箱です。

(  is  /  a box  /  This  ).

これは本です。

(  a book  /  This  /  is  ).

これは机です。

(  a desk  /  is  /  This  ).

これはイスです。

(  a chair  /  This  /  is  ).

This is a pen. 

This is a box. 

This is a book. 

This is a desk. 

This is a chair. 
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①

②

③

④

⑤

①

②

③

④

⑤

これはペンです。

ステップ be動詞 肯定文 This is ～ . 

覚えよう!

This is ～ . これは～です。

次の日本文を、英語になおしなさい。

[解答]

これは箱です。

これは本です。

これは机です。

これはイスです。

This is a pen. 

This is a box. 

This is a book. 

This is a desk. 

This is a chair. 
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